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Name:
r )

Write the place value that is 100 times as great as the tens place.
\. I
r R

Which two of the fractions have a difference of %’?

3 2 5 2 L
12 4 8 3 7

\. I
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[ Mary is 2 times as old as Rosa. In 5 years, the sum of their ages will be 25. How old is Rosa?

This fraction is equivalent fo Z_. The sum of the digits in the denominator is 16. The sum of

1t

the digits in the numerator is 1. What is this fraction?

The number 250 is the smallest whole number that when rounded to the nearest

will be 300.
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Complete each pattern. Write what the rule is. Hint: Look for alternating sequences.

Every third number is the greatest common factor.

311615 3,919,112,

23,1,15,27, 3,18, 31,1,

317,,6,21, 3,9, 25,1, 12,
29,1,15, 33, 3,18, 3/, 1,

Complete each pattern. Write what the rule is.

12969, 69129, 29691, 91296, 96912, 12969, 69129,

29691, 12969, 69129, 29691, 91296

25326, 62532, 32625, 25326, 26253,

53262, 62532, 26253, 53262, 62532
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Rosa bought 12 green
bows to put in her
horse's mane for the
parade. Each bow cost
$1.86. How much did
Rosa spend on the
bows?

Mr. Rodriguez is building a
stage for the public
speaking contest. The stage
s 19 1 feet wide and 15 -
feet long. What is the area

Of the 150 students af
Marion School, about % of
them have unique first
names. What percent of

them have unique first

of the stage? names?

Maria wants Anna to guess a three digit Look at the chart.
number. She tells Anna that her number The number 24 is in the 43
has three different digits. The digits are 3, | 3rd column of the Ist row. + 35
1, and 8. Anna thinks. She then guesses 5 115 1133w
the number 183. What are the chances
that Anna has guessed correctly? 51 (60697887

96 105 | 14 [123 [132

111150 |159 168 | 177

10x10 =

9x8=

What number is in the
Ist column of the 2nd row?

If the pattern continues,

what number would go in the
Ist column of the 6th row?

For 2,293,622,505431,339,
write the digit that is in the
ten thousands place.

861 - 649 =
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Sudoku Sums of 12

Each row, column, and box must have the numbers 1 through 9.
Hint: Look for sudoku sums. The sum of the two boxes inside of the

dashed lines is 12.

Here is an example of a sudoku sum of 12: |1 g y
.......... - ; —

. | .
6 8 7

I B . ,
3 1 6 9
5 3
, N B .

8 2

N W

o~ w
— 00

56+7 =

Rewrite these in increasing order of length:

HQ9 mm, 882 cm, 600 dm, 236 m

o0
(O N
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]
D
D

LIS
Sl J

O

Finish the line:

Q)

<> the line you have already drawn.
‘ You MUST TURN in a BLACK circle. Do NOT TURN in a WHITE circle.

Finish the line:

Can you draw ONE line going through ALL the circles? Your line can go left, right,
up, or down. It cannot go diagonally. Your line cannot cross over any part of

The puzzle on the left shows a correct line going through all the circles.

O

OO

O|@®
O

OO

® O
O|®

A bike originally priced at $90 is

72+8=

marked down by 40%. What is 20+5= L1 =
. 2211 =
the sale price?
9 +8 =
3 Tecm =10 mm
- 51
7172 + 4664 = _ 3 5 7 19cm = mm
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7 ele5 e=0eHHebeleB8e2eHHeDeOe+ee=0e04e3
Qe =9¢=e¢38
Use the pieces above to help you fill in the runaway math puzzle.
X 9|1 x|2]= 8
2 X|5|=[2]5 +
31+(1 3 3
1 + =
4(x|14(=]1 9
+11(=|17|-14
7 6 -
410+]5]|= 9
1
211 =(3]|=]7
+
4
9l+|7[=]1]|6
3 3 5|=|6
0 4(+10 +
8
5|+]|3 11+ 7 =
3 7
773 - 131 = Bkg= ——9 20+2=

@+H)+8= 5x2=
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Use mental math to quickly solve.
r N\ )
363 +10=___ 0.727 + 10 =
J \
6215+10= 0131+ 10 =
J \
882+100=___ 5H04.7 = 100 =
J \
3525+10=_______ 061+ 10 =
J \
35511+ = 3551 IR 223+ __ =0223
O46 +10= M33 + = 7H33
J \
___ +100 = 8907 6253 + = 6253
\ J \ y,

2)1.8 3)1.08 u.y

(" word root pseudo can mean false pseudonym )
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Fill in the blanks by adding the two numbers below each hexagon.

)
s

word root post can mean after postscript
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Peter found 30 seashells. He put them in a bag and pulled out 2 pink shells out of 12 pullls.
Predict the number of pink shells he will pull in 18 more pulls.

Consider a piece of paper in the shape of a parallelogram - any parallelogram. How can
this piece of paper be used to prove the formula for the area of a triangle?

There are HO popcorn balls in a box. Half have peanuts in them and 8 have chocolate
chips in them. The rest are plain. If Jack chooses a popcorn ball at random, what is the
probability it will be plain?
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23 x__=207 _x3 =M/ 62x__=372

Qom x4 =84 69x__=345 __x 2 =100
_ x 3 =165 72x_=432 78 x_=546
53x__=3/1 __x7 =301 __x5 =480

= Ux3= 8x5= 5x9-=

o e 6x9= 2xU= 9x9=
5x3= 9 xYy-= 5x8=
8x/= 6xl= 8xU=
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8- 4 -1 = B3+ _1 +5 = Reduce 8 toits lowest
7 5 7 7

terms.

word root hippo can mean horse hippopotamus, hippodrome
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Color in the thermometer.
7\ °F 7\ °F 7\ °F 7\ °F 7\ °F
— 110 — 110 — 110 — 110 — 110
— 100 — 100 — 100 — 100 — 100

— 110 — 110 —110 — 110 — 110
— 100 — 100 — 100 — 100 — 100
—90 —90 —90 —90 —90
— 80 — 80 —80 — 80 — 80
—70 —70 —70 —70 —70
— 60 — 60 — 60 — 60 — 60
—50 —50 —50 —50 —50
—40 —40 —40 —40 —40
—30 —30 —30 —30 —30
—20 — 20 —20 —20 — 20
—10 — 10 —10 —10 — 10
—0 —0 —0 —0 —0
—-10 —1-10 —1-10 —-10 —1-10
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7 N 7 N
A A
A A
\_ ) \ J
7 N 7 N
A A
\ ) \ )
7 N 7 N
& &
\ ) \ y
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z+z+z+z+z2+7z+72+2z2=

s+ 6s=

/r+4r =

8k - Uk =

bm-Um+m =

z+z+z+z2-2+9=

m+m+5-m=

tbr-9r+15 =

26s - 8s+1ls + 3s =

64,765y - 60ty =

Uy +13-7+7y -5y =

If y = U, then show what the result of the
two equations above would be.

Did you get the same result for both
equations?

The pencil factory was making boxes filed
with pencils. They made six large boxes,
each with lots of pencils, but they forgot to
label how many pencils are in each box.
Sara was in charge of the boxes. She wrote
z on each box.

Z Z | Z Z | Z Z

If z represents the number of pencils in
each box, then how many pencils are there
altogether?

z+z+z+z+7z2+272=
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56+-7= 1 [10x-1= 1 (4+-9= A
7+3= N [-7+-8= 1 [(-3+1= |
. 1 (3-2-2= ) [-55+11= |
48 =
4
" 2x-3= 1 [-2-3-2= N [-7-11= )
C2+U4= 1 [-2+15= 1 [29+-33= |
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Find the greatest common factor for each

pair of numbers.
4 and 2

Factors of 4 =
Factors of 2 =

GCFU, 2) =

12and 9
Factors of 12 =

Factors of 9 =

GCF(12,9) =

The GCF of 16 and 40 is

Use the GCF to factor 16 + 40s

The GCF of 30 and 15 is

Use the GCF to factor 30r - 15

The GCF of 20 and 24 is

Use the GCF to factor 20 - 24y

The GCF of 6 and 2 is

Use the GCF to factor 6 - 2z

The GCF of 16 and 8 is

Use the GCF to factor 16r + 8

The GCF of 3and 12 is

Use the GCF to factor 3 - 12k

April coded a program to see if
28r + 14 is equivalent to 2(MHr + 57).

r=2

equationf = 28 * r + it

equation2 = 2 * (4 * r + 57)

if equation! == equation2:
print ("They are equal.”)

else:

print ("They are not equivalent.”)

When this program is run, what will be

prinfed to the screen?
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List all the numbers from 4 to 49 which are:

a. multiples of 6

b. multiples of 6 but not of 3

Each box in the grid has an area of 1 square
inch. Draw two different triangles that have
an area of 10 square inches.

Ava and Megan are playing a new When you divide 48 by 9, you will get a
giveaway game. The game is in the shape quotient of 5 with a remainder of 3.

of a circle. A light goes around the circle.

When a player presses the button, the light How many other different remainders can
stops. Players can win 1 ticket, 2 fickets, 3 you get if you divide other whole numbers
tickets, or U tickets, depending on where the by 9? Give an example of each.

light stops. Ava played one round, and then
Megan played a round. What is the
probability that they both won exactly 3
tickets?
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1)528 24)720 Ug) 1536 5)175
60)2400 80) 880 36)1296 24)6U8
( 1 [7x108+9-77+7= 1( )

05 (04 (05+7)) =

\.

" Write as an algebraic " The letter p is used to

expression. ; + 8 =1 1-11 represent power points in
~ a game. The points must be
305.5 divided by the a= greater than 394 but less
difference of w and b than 592. Express this as
an inequality.
\. J \ J \ J
" What is the greatest 1( ) (Ift=-7ondm=20then |
common factor of the Simplify. what is the value of g?
numbers 117 and 267 o — 8t+9m-3m=g
96
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

1 -2 1 1 1 -2 1 1
2 ¥ 3 t9 2 T 2 7 2 ¥ 3 * 2 T 2
1 1 1
R
Sample L D (2 19 S 911 16 D (2
2 b6 3 b6 2 b6 3
‘ is the sum ‘ is the sum ‘ is the sum ‘
1
7 3 7
Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: -1 71 Tz or -2 %
The other three numbers have to all be DIFFERENT and must be from these: ¢ ; . 7 ; . 3 ; :
o % 1 3 2 1
R
1 1 3 i S [ 1
S 19 Pghg g (=716 'z
I B n i B~ il
RN
1 1 1 1 S (-2
19 P12 By 2 2 |3
I S~
RN
1 3 (o 1 1 1
- Wg PPz 19 Pz 7 7
I S e S
2 72 2 12
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Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: -3 % -2 % or - %
The other three numbers have to all be DIFFERENT and must be from these: 1 g , é . 2 é , or
y

5 1 Y 2 3
R R
2 ? [ 1 y 1 4 1 y
251199 15 35 s 79 I's) 35 s
I i e e W il
R R e
-2 1 1 9 2L 0 4 1 ﬁ qi 3 1 -3 3
2l 90 £5) V5 5 Pys Us] 05 s
I B i B~ B
\ R R
4 4 3 1 ([ y 1 1
‘5135 P25 35 (3 ‘5] 65 23
I Bl e B
R R R
-3 3 O 4 1 4 Y al 1 Ll.i qi 3 4 1
55 V5 5] "gs 13 "o Us) 05 15
e i S e N
R R R
2 4 [y 1 2 y 1
251 05 !5 79 15 . 5

T
w
gljw
=
-=
U
N
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544 168 g3y 802 g9y

90 929 560 4rp 5g,

X T =
fol 688 183 4., -
I'. ‘—1!'%;";—::—!'"‘ 1945 .355

120 T270 7

| @19 @s2 313 @20 20@
'. é:-@%@-%miﬁ@?ﬁ‘—?

*++_and so much mo_rg! *!
e

SUBSCRIBE TO RECEIVE EVEN MORE

Answer Keys « Effective Activities « Accl:ess
to as many printables as you need!




Where can
I get more of this
great stuff?

More things for

IS ) the classroom!

More
science\.
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” Take The Boring

. Out Of Homework!/ <

L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




